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Figure S2

) PC-3 cell ) PC-3 cell
- - + shSrc#1 < - + shSrc#2
N a0 | Sre total
E. Src total E E‘
4 GAPDH
S 15 s == | GAPDH s, o
') ')
2 1.0 = o>
o =k S
bk ~0.5
= 05 —
= —- shCon = - shCon
= —A— shSrc #1 = —&— shSrc #2
0.0+ - - - v ) 0.0+ - - ' v \
0 1 2 3 4 5 0 1 2 3 4 5
Days Days
) PC-3 cell LNCaP
> S
& R W SO
& oo & oo
N N
& &S & &
1.5+ " 2.0
: [E=omn 2 E sl memeoamn
= 1.0 e
wn
= a 1.0-
= S
0.5 ot
| - shCon q - shCon
= —A- shFyn #1 e A shFyn #1
- ~¥- shFyn #2 > i —¥-shFyn #2
"o 1 2 3 4 5 o 1 2 3 4 B

bl



Figure S3
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Figure S4
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